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Question 1 Primary 6 Science » Primary 6 Science (Term 2) 2 pts

Choose the most suitable answer below. (15 x 2 = 30 marks)

Stuely the flow chart halow.

Animals

Which of the following is classified cormectlyfor group A and 57

A. A B

insect | reptile
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B. A B

mammal | fish

C. A B
insect | fish
J D. A B

mammal | reptile

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Thu 30th Sep 2021
Last Modified: N/A

QID#: 29,184,914

Primary 6 Science » Primary 6 Science (Term 2) 2 pts

Question 2

Which statement is correct about the fern and the mushroom?

>

They grow only on the ground.

w

They are non-flowering plants.

v C. They reproduce from spores.

o

They make their own food.

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Thu 30th Sep 2021
Last Modified: N/A

QID#: 29,184,922

Primary 6 Science » Primary 6 Science (Term 2) 2 pts

Question 3

Aminah wanted % find out how the lengih of the wing-like struciure  affects the
distance fravelled by the seeds, .

Which of the follewing should be kept constand to ensure a fair teaf?

& |ocation of the esxpariment
B length of the wing-Ske structurs
& haight from which the sesds were dropped
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A. Aonly
B. AandConly
v C. BandConly

D. A, BandC

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 4

Sttty tha dliapereal of seads by planks X Y and 7

Multiple Choice
No

Thu 30th Sep 2021
N/A

29,184,927
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Primary 6 Science » Primary 6 Science (Term 2)

M i

wind dingclion

wind direclion
i L]

How are lheir seeds mosl likely disparsady

A. X Y

animal | explosive action [ wind

v B. [x

Y V4

explosive action | animal | wind

Y Z

animal | wind | explosive action

Y Z

wind

animal | explosive action

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 5

Multiple Choice
No

Thu 30th Sep 2021
N/A

29,184,938
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Bryan obssreed tao cells, X and Y, under the microscops. He completed the table
balow. A tick () indicates at the pan was observed in the celd,

| Parts of call_ Cell X Cell Y
Al A ol
ol waall = 4
i 7 |

| chioroplasts
call membrans A Ll

Which of tha following shows the comect cessification?

A. |cellx|cell Y

cheek | leaf

B. [cell X|cCell Y

root cheek

C. |cenx|ceny

onion |cheek

v D. [cellx|Cell Y

cheek | onion

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 30th Sep 2021

Last Modified: N/A

QID#: 29,184,950
Qu estion 6 Primary 6 Science » Primary 6 Science (Term 2)

The disgram befow shows the clreulatary systen in a fsh and human,

athar parts ! o other parts i
of tha body | of tha bady |
AL LR e ————ee
. o E
A Toeart —s  heart -
¢ g F
L] oms | ungs b
e |
Clrevlaony system of afish Cireifalory gyslesm af a human
Which ane of the following identifles cxypen-rich blocd and carbon doxide-rich blood
at the diffsrent parts corractly?

v A Oxygen-rich blood | Carbon dioxide-rich blood
A D, G B,C,EF
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B. Oxygen-rich blood | Carbon dioxide-rich blood
B,C,D,G AE F

C. Oxygen-rich blood | Carbon dioxide-rich blood
C,G A, B, ED,F

D. Oxygen-rich blood | Carbon dioxide-rich blood
A EF B,C,D,G

Question Type:
Randomize Answers:
Date Added:

Last Modified:

QID#:

Question 7

Muiltiple Choice
No

Thu 30th Sep 2021
N/A

29,184,965

Primary 6 Science » Primary 6 Science (Term 2)

Which of the following is produced by green plants during photosynthesis?

A: food
B: oxygen
C: carbon dioxide

A. Aonly

¥ B. AandBonly

C. AandConly

D. BandConly

Question Type:

Randomize Answers:

Date Added:
Last Modified:
QID#:

Question 8

Multiple Choice
No

Thu 30th Sep 2021
N/A

29,184,973

Primary 6 Science » Primary 6 Science (Term 2)

DOranvid 21 tip she followtng eompesimant using groen bean seeds,

flrsh

e vl

preen basn seads

Whilch of the Tallowing comdiions ehould he choose in ardar 1o have the seadlings wilh
tha thinnast stams al the and of his experimeant?
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A. [Location

Type of cotton wool

Number of green bean seeds

ClassMarker - Manage Test

in the garden | moist

B. |[Location

Type of cotton wool

Number of green bean seeds

in a dark cupboard | dry

30

C. |Location

Type of cotton wool

Number of green bean seeds

in the refrigerator | dry

6

Location

Type of cotton wool

Number of green bean seeds

near the window | moist

30

Question Type:
Randomize Answers: No
Date Added:
Last Modified: N/A
QID#:

Question 9

Muiltiple Choice
Thu 30th Sep 2021

29,184,990

Primary 6 Science » Primary 6 Science (Term 2)

Rain bools ane worn to profect the parson from gatling their fact wal whan hadshsa

wallea in hessy rain,

Bated on bhe properlies shown Below, whech matenial 18 mosl fuitabe foe mruaking the

rain bools?

Key
V:yes
X 1 N0

Property

Material

Strong

Flexible

Waterproof

A

=

v

.|'I

v B. E

,.J

N

.f

C. {:

T
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> D \ N X

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 30th Sep 2021

Last Modified: N/A

QID#: 29,185,030
Question 10 Primary 6 Science » Primary 6 Science (Term 2) 2 pts

Which of the following about condensation and evaporation in the water cycle is not correct?

v A Evaporation occurs at a fixed temperature.
Condensation happens when water vapour loses heat.
C. Evaporation is affected by the temperature of the surroundings.

Condensation causes the formation of clouds.

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 30th Sep 2021

Last Modified: N/A

QID#: 29,185,041
Question 11 Primary 6 Science » Primary 6 Science (Term 2) 2 pts

Martin put thres identical hot buns, of the sama temperature, o thees [dentical
Bexes, PO and R, Tha number of holess on the Bd of the boxes are differant.

Based on information above, which of the fellowing stalements is cormact?

A. Water droplets formed on the inner surface of the box lids for P and Q only.

The holes allow all the water droplets in the box to escape to the surrounding air outside
the box.

v C. The most amount of water droplets dripped from the inner surface of the box lid onto the
buns in box P.

D. The most amount of water droplets dripped from the inner surface of the box lid onto the
buns in box R.
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Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 30th Sep 2021

Last Modified: N/A

QID#: 29,185,059

Question 12 Primary 6 Science » Primary 6 Science (Term 2) 2 pts

The diagram shows the arrangemant of four bulbs in a cincuit.

bulb P () bulb @)
)

bulb R bulb 5
Which of the following buibs can be tumed on or off using the switch?

A. Qand S only
Q and R only
v C. PandRonly

D. P,QandRonly

Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 30th Sep 2021
Last Modified: N/A
QID#: 29,185,066
Question 13 Primary 6 Science » Primary 6 Science (Term 2) 2 pts
Ramesh kicked a ball upwards,
B
- S
~"  position B
g
/

At which position{s) did gravitational force act on the ball?
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A. Aonly

B. Bonly

C. BandConly

v ' D. ABandC

Question Type: Multiple Choice

Randomize Answers: No

Date Added: Thu 30th Sep 2021

Last Modified: N/A

QID#: 29,185,081
Qu estion 14 Primary 6 Science » Primary 6 Science (Term 2) 2 pts

Ahmad pushed his toy car acrozs surface A

toy car
push
_—
ﬂ@}— LR surfmce A

He repeated tha exparimant by using the ssme amount of force on tha toy
car on threa other differant surfaces, B, C and 0. The lime faken for the toy
car bo come 10 & complela stop s racarded and shown below.

B Lok
far bony cer
o slog
{secands)
[ L = surfucs
A B o D

Based on nformation above, which of the following statements are comect?

A Sarlpce C s the smoothest,

B: Surisca O is rowgher than surface A but amoather than suefeee C.
C: Tha friglional force babwean the foy car and swrface A is the least.
0: There iz no Incthonal force acting between the toy car and surface C,

A. AandBonly
v B. BandConly
C. BandDonly

D. A,BandConly

Question Type: Muiltiple Choice
Randomize Answers: No

Date Added: Thu 30th Sep 2021
Last Modified: N/A

QID#: 29,185,091
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Question 15 Primary 6 Science » Primary 6 Science (Term 2) 2 pts

Awire was coiled around a metal bas as shown below, Al first, the metal ball

did not move.

|
--.-'-
| ]
]
=3 tal bar

— — - me
J K
medal ball

&

When a battary was placed in between polnts 1 and K, the metal ball moved
towards the metsl bar bafore dropping back down, Thiz was repaated uniil e
battary was ramoved,

What ¢aan ba concludad based on the informabion above?

A The metal bar was a permanent magnel.
B: The meial ball was made of 4 magnetic matarial
G The meatal ball dropped down as there was a ciosed circult,

v A. Bonly

A and C only
C. AandBonly

B and C only
Question Type: Multiple Choice
Randomize Answers: No
Date Added: Thu 30th Sep 2021
Last Modified: N/A
QID#: 29,185,095
Question 16 Primary 6 Science » Primary 6 Science (Term 2) 0.5 pts

The diagram bekow shows how a fruil is formed from fower X,

Procese B

State process A.

Accepted answers:

v’ Pollination
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Question Type: Free Text

Date Added: Thu 30th Sep 2021
Last Modified: N/A
QID#: 29,185,101

Primary 6 Science » Primary 6 Science (Term 2) 0.5 pts

Question 17

The diagram heldow shows how a il is formed from flower b8

State process B.

Accepted answers:

v’ Fertilisation

Question Type: Free Text

Date Added: Thu 30th Sep 2021
Last Modified: N/A
QID#: 29,185,105

Primary 6 Science » Primary 6 Science (Term 2) 1 pt

Question 18

The diagram heldow shows how a il is formed from flower 8

Which part of the flower did part Y of the fruit developed from?

Accepted answers:

v’ Ovules

Question Type: Free Text
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Date Added: Thu 30th Sep 2021

Last Modified: N/A

QID#: 29,185,112
Qu estion 19 Primary 6 Science » Primary 6 Science (Term 2) 0 pts

The disgram below shows how a frultis froemed from flower X

Deseribe how proganism £ helps In process A (2m)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 30th Sep 2021
Last Modified: N/A
QID#: 29,185,126

Correctly answered feedback

Organism Z helps to pollinate flower X when its body rubs on the anthers of flower X and the pollen
grains stick onto its body. Thereafter, organism Z moves on to another flower and pollinates the
flower when its body brushes on the stigma of the flower.

Incorrectly answered feedback

Organism Z helps to pollinate flower X when its body rubs on the anthers of flower X and the pollen
grains stick onto its body. Thereafter, organism Z moves on to another flower and pollinates the
flower when its body brushes on the stigma of the flower.

Question 20 Primary 6 Science » Primary 6 Science (Term 2) Opts
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Peter conductad an expedment to investigate how the amount of light affecied
the mass of frults In plant X over a period of time.

The graph below shows the result of the experimen.

mass of flts [v;f]I

400

e

1| .3

- amaund af
: B 5§ 1 15 20 fght [units)

Based on the graph, state how the amount of light affected the mass of fruits produced by plant X. (2
marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 30th Sep 2021
Last Modified: Thu 30th Sep 2021
QID#: 29,185,138

Correctly answered feedback

As the amount of light increased to 15 units, the mass of fruits increased. When the amount of light
was 15 units and more, the mass of fruits remained the same.

Incorrectly answered feedback

As the amount of light increased to 15 units, the mass of fruits increased. When the amount of light
was 15 units and more, the mass of fruits remained the same.

Qu estion 21 Primary 6 Science » Primary 6 Science (Term 2) 0 pts

Peter conducted an sxperiment 1o Investigate haw the amaunt ef light affactsd
tha mass of frults In plant X over a perod af Uma.

The graph below shews tha result of the axperiment.

mmass of fnaits {g)

400 .-u:f.:""_-_'_"'}

e =

il

. amountof
0 15 =20  bghtfuniis)

=]

Peter decreased the amount of carbon dioxide used in the experiment. Explain what would happen to
the mass of the fruits after some time. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.
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Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 30th Sep 2021
Last Modified: N/A
QID#: 29,185,153

Correctly answered feedback

Mass of the fruits will decrease. With less carbon dioxide, the rate of photosynthesis will decrease.
The plant made less food. Less food would be transported to the fruit and stored in the fruit.

Incorrectly answered feedback

Mass of the fruits will decrease. With less carbon dioxide, the rate of photosynthesis will decrease.
The plant made less food. Less food would be transported to the fruit and stored in the fruit.

Question 22 Primary 6 Science » Primary 6 Science (Term 2) 0 pts

Jerome waribed to find out how the mass of a car affects the tme taken for it 1o
reach the botlem of & ramp. He sel up the experiment below and gave the car a
genitha push 1o let It move down the ramp.

mp
ok

adjustable toy car  poirl A
knob -

relor stand mp

Fill in the boxes to show the energy conversion in the ¢ar as it moves down the

ramp. (1m)
. +
Energy nanyy Bnergy
{of &ar &t peint A) "
T

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 30th Sep 2021
Last Modified: N/A
QID#: 29,185,221

Correctly answered feedback

Gravitational Potential ------ > Kinetic + Heat + Sound
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Incorrectly answered feedback

Gravitational Potential ------ > Kinetic + Heat + Sound

Question 23 Primary 6 Science » Primary 6 Science (Term 2) 0 pts

Jarome wanded o find out how the mass of & car alfects {ha fima taken for il o
raach the botom of & remg. He el up the experment below and gave the car a
gentle push o bk it move dawn the ramg.

adpmiable
knob

relor stand

Without changing or adding any new apparatus or materials, state what he could do to make the car
move down the ramp faster using the same force. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 30th Sep 2021
Last Modified: N/A
QID#: 29,185,287

Correctly answered feedback

Shift the adjustable knob to a higher position to raise the ram.

Incorrectly answered feedback

Shift the adjustable knob to a higher position to raise the ram.

Question 24 Primary 6 Science » Primary 6 Science (Term 2) 0 pts
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Jarnmae wantsd o find oul how the mass of & cor affecls {ha fima taken fof il o
reach the botom of & remg. He sei up the experment below and gave the car a
gartle push 1o kel [§ move down he ramg.

Explain your answer in the previous question. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 30th Sep 2021
Last Modified: N/A
QID#: 29,185,382

Correctly answered feedback

When the slope is steeper, the car is higher, resulting in it having more gravitational potential
energy, thus, more gravitational potential energy will be converted to more kinetic energy.

Incorrectly answered feedback

When the slope is steeper, the car is higher, resulting in it having more gravitational potential
energy, thus, more gravitational potential energy will be converted to more kinetic energy.

Question 25 Primary 6 Science » Primary 6 Science (Term 2) 0 pts

Jarnmae wantsd o find oul how the mass of & cor affecls tha fima taken for il o
reach the botom of & remg. He sei up the experment below and gave the car a
gerdle push 10 4 i meve dawn the ramg.

adpmiahie
knob

reior shand

Jerome repeated the experiment by applying a layer of oil on the surface of the ramp. Explain what will
happen to the time taken for the toy car to reach the bottom of the ramp. (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.
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Question Type: Essay

Date Added: Thu 30th Sep 2021
Last Modified: N/A
QID#: 29,185,390

Correctly answered feedback

The time taken will be less. There is less friction between the car and the surface of the ramp.

Incorrectly answered feedback

The time taken will be less. There is less friction between the car and the surface of the ramp.

Question 26 Primary 6 Science » Primary 6 Science (Term 2) 1 pt

A weight Is hung on spring A as shown below,

supporl
original spring A
length of
spring
welight

Name the force acting on the weight when it is hung on the srping. (1 mark)

Accepted answers:

v’ Gravitational force

Question Type: Free Text

Date Added: Thu 30th Sep 2021

Last Modified: N/A

QID#: 29,185,394

Question 27 Primary 6 Science » Primary 6 Science (Term 2) 1 pt
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Length of spring (o}

v 10 cm
v 10

v 10cm

Date Added:
Last Modified:
QID#:

Question Type:

suppor]

spring

A welght 15 hung on spring A as shown balow.

walght

The graph shows the resulls obtsined.

50 100 h 1) 200 258 =0

Wieights hung [g]

What is the original length of spring A?

Accepted answers:

Free Text

Thu 30th Sep 2021
N/A

29,185,405

Question 28

https://www.classmarker.com/a//tests/test/?test_id=1825329

ClassMarker - Manage Test
ariginal ==L ~__— spring A
length: of

Fiva more identical weaighls wese hung on spring A, ons by one. The length of
spring A was moeasured and recorded, The sxpeiment was mpealed using

spring B,

Key:
i Sl
e Gl B

Primary 6 Science » Primary 6 Science (Term 2)

2 pts
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A welght 15 hung on spring A as shown balow.

length of

support
arginal [g
speing

walght

wiaights heng (gl

Which spring is more suitable for measuring objects weighing 250 g?
Explain your answer. (2 marks)

Accepted answers:
¥’ Spring B
v B

Question Type: Free Text

Date Added: Thu 30th Sep 2021
Last Modified: N/A
QID#: 29,185,418

Correctly answered feedback

Spring B can stretch to measure but spring A cannot.

Incorrectly answered feedback

Spring B can stretch to measure but spring A cannot.

Question 29

https://www.classmarker.com/a//tests/test/?test_id=1825329

s wo 150 3We WO A0 B4

spring A

Five mona identical weghts ware hung on Sprng A, ana oy cng. The length of
speing A was massunsd and recorded, Tho

spfng B,
The graph shows tha results oblained.

gporinent was rapeated usng
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An experimant i3 sel up a5 shown below. Bolh sonlalners were idenfical and
filled with wass at 90 °C. | i

]
i

salap A it B
In which set-up, A or B, will the water be at a higher temperature after 30 minutes? (1 mark)
Accepted answers:
v Setup B

v SetupB

v B

Question Type: Free Text

Date Added: Thu 30th Sep 2021

Last Modified: N/A

QID#: 29,185,429

Question 30 Primary 6 Science » Primary 6 Science (Term 2) 0 pts

An expesiment is eal up as shown below, Both conleiners wena idanfizal and
fillad with witer =1 90 50 largs glass container

Explain your answer in the previous question. (2 marks)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 30th Sep 2021
Last Modified: N/A
QID#: 29,185,435
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Correctly answered feedback

The layer of air is a poor conductor of heat and reduces heat loss from the water to the
surroundings.

Incorrectly answered feedback

The layer of air is a poor conductor of heat and reduces heat loss from the water to the
surroundings.

Question 31 Primary 6 Science » Primary 6 Science (Term 2) 0 pts

An soperimend is asl up as ShoWT below, Both conleiners were idanfical and
fil o with wadsr a1 90 °C, taros gjimes conl

What will happen to the temperature of water in both set-ups after one day? (1 mark)

This question is designed for extended answers that parent/ teacher will have to assign and guide child
to attempt after the test has been completed.

Grading: This question type is not graded on this system and will not affect the final score as it was
designed in such a way that it requires manual assistance.

Question Type: Essay

Date Added: Thu 30th Sep 2021
Last Modified: N/A
QID#: 29,185,444

Correctly answered feedback

They will both lose heat and reach room temperature.

Incorrectly answered feedback

They will both lose heat and reach room temperature.
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